
CMRR for discrete INA and PGA855
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Differential gain of 5V/V 
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Vin_dif x G = Vout_dif

100mV x 5 = 500mV



Common mode gain of 1V/V 
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Vcm x Gcm = Vout_cm = (100mV x 1V/V) ≈ 100mV (99.88mV)

Vout_dif ≈ 0



Discrete INA + PGA855 (Differential response)
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Vin_dif x G1*G1 = Vout_dif

(1mV)*(5V/V)*(8) ≈ 40mV



Discrete INA + PGA855 (common mode response)
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This is the key slide.

Vdif1 ≈ 0 (no translation of Vcm into Vdif)

Vo1 ≈ Vo2 ≈ Vcm (common mode passes through first stage)

Vdif2 = 561uVpk (due to CMRR of PGA with Vcm = 1mVpk)


